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The wire shown in the figure is infinitely long and carries a current i. Starting from the
Biot-Savart law.find the magnetic field (both magnitude and direction) at point P.

(dB = J.lo i di x r ) 1 '"
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Using Ampere's law, find the direction and magnitude of the net current passing from the
rectangular region shown in the figure, if the resulting magnetic field İs B = Ay [ ,where

A> Oİs a constant. ( fB· dT = JlOJencl)
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A eireular loop has radius R and earries a current i in a cloekwise direetion. Starting from
the Biot -Savart law, find the magnetie field (both magnitude and direetion) at its center.

( dB = f.Jo i dı x po )
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A cylindrical wire with radius R carries a current i. The current is uniformly distributed
over the cross-sectional area of the conductor. Using Ampere's law, fmd the magnetic
field (both magnitude and direction) everywhere (for r < R and r> R),
(f 13 o dT = J.10Iencl )0
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The wire shown in the figure is infinitely long and carries a current ı. Starting from the
Biot-Savart law, find the magnetic field (both magnitude and direction) at point P.

(dB = /-Lo J dı x r )
47r r2
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